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public static void printOs ng(double amunt) ({
/] print Banner
Syst em Out . prl nt | n("********************") ’
Systemout.println("*** Custonmer Omes **");
Syst em Out . prl nt | n("********************") .
/[lprint details
Systemout.println ("nanme:" + nane);
Systemout.println ("anount” + anount);
}
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class Enigma {
public static void main(String[] args) throws Exception {

Server Socket server Socket = new Server Socket ( 80);
Socket clientSocket = server Socket.accept();

PrintWiter out =
new PrintWiter(clientSocket.getQutputStrean(), true);

Buf f er edReader in = new BufferedReader (
new | nput St r eanReader (cl i ent Socket. get | nput Stream()));

String input = null;

out.println("HTTP/1.1 200 CK");
out.println("");

while ((input = in.readLine()) !'= null)
out.println(input + "<br>");
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